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A collection of related instructions organized for a common purpose is referred to as

I
(A) File (B) Database (C) Program (D) None of above
Y Sy gy Prcudidss 2
: -9 f" L3 LWJ/LLL"U{?&ELMUWLS-C 2 LR/ 2R 0 ;
2. Computer instructions written with the use of English words instead of binary machine code is called
(A) Mnemonics (B) Symbolic code  (C) Gray codes (D) Opcode
<4

??Ccf:(rf)j{ Translation th}:_",{iéadbilﬁ'dc)f

Which language is directly understood by the computer without translation program?

3

(A) Machine language (B) Assembly language (C) High level language (D) None of above

e yunits Al A

4. Computer system ccmprises of major units

(A) input unit, output unit, control unit

(B) input unit, output unit, control unit and storage

(C) input unit, output unit, central processing unit and storage unit

(D) input, output and storage units

_ugé':’: ----------------------- (?)/ High Level Langauge 5

5. High level language is also called

(A) Problem oriented language (B) Business oriented language

(C) Mathematically oriented language (D) All of the above

-l Ll{d:f.:..?fuf (Industry) c_-,'f‘d’ Microprocessor a}{ L,fu:( 6

b. Which company is the biggest player in the microprocessor industry?

(A) Motorola (B) IBM (C) Intel (D) AMD

7, MICR stands for
(A) Magnetic Ink Character Reader

(C) Magnetic Ink Cases Reader

(B) Magnetic Ink Code Reader
(D) None

-.:;.é_f.(Storage Device) .ll'quf.:..u: Ol

8. Which of the following is a storage device?
(A) Tape (B) Hard Disk (C) Floppy Disk (D) All of the above
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s t'/JJFJ:L‘)LJL.F‘err"|/{:{¢-JV£|’|):{}&1{H|_Q 9
A computer program that converts an entire program into machine language is called a/an
(D) Commander

(B) Simulator (C) Compiler

_;fd{f;\scn 10

i

(A) Interpreter

ASCII stands for
(A) American Standard Code for Information Interchange

(B) American Scientific Code for International Interchange
(C) American Standard Code for Intelligence Interchange
(D) American Scientific Code for Information Interchange

-.:'_..;/- ¥ #siCentral Processing Unit A1

Central Processing Unit is combination of

(A) Control and storage (B) Control and output unit

(D) Arithmetic logic and control unit

PR S FLHScp-ROM .12

(C) Arithmetic logic and input unit

CD-ROM stands for
(A) Compactable Read Only Memory (B) Compact Data Read Only Memory

(C) Compactable Disk Read Only Memory (D) Compact Disk Read Only Memory

-‘;},"/Jf’ (Nerve Centre)b'/');{ Unit Vdﬁr 13

Which unit is known as nerve center of computer?
(A) ALU (B) CU (C) Memory (D) Registers

[

MSI is the abbreviation of
(A) Medium Scale Integrated (B) Medium System Integrated
(C) Medium Scale Intelligent (D) Medium System Intelligent

-ecnd Clnterpreter Mbofe Lol 15
Which statement is valid about interpreter?

(A) It translates one instruction at a time r‘_t'/.ﬁ.?b’.:.;_u LI (i
(B) Object code is saved for future use VU & e L 255 ¥ Object Code
(C) Repeated interpretation is not necessary Lﬁ'.:-;s/‘d/ C’/”'?L.sl.
(D) All of above W 2sir
B i e, F JEITS 16

An example of a digital device can be

A) Digi : S IES -

(A) Digital clock 8] )’ -y (B) Automobile speed meter KJB:J: Ls T

(C) Clock with a dial and two hands ~ #L-L Dial sFnS 4l (D) All of the above Wi
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The full form of EEPROM is = ijJ BERRu i
(A) Electrically Erasable Programmable Read Only Memory
(B) Easily Erasable Programmable Read Only Memory
(C) Electronic Erasable Programmable Read Only Memory
(D) None of the above
o "]‘r;;gﬁ""éiError Checking 42§/ T,,iﬁ-_p)Uwf(Bils)u—%. . ASCIICode J7 .18
origina : ; g
'A]‘:j ngin code used__bits of each byte, reserving that last bit for error checking
( (B)6 ©)7 (D)8
i’{jj{:;&{vp 19
A computer programmer .
(A) Does all thle thinking for a computer = L}C.@rdjt,bfj,&f
(B) Can enter input data quickly v = S P § Jded Tnput
(C) Can operate all types of computer equipments g;.ECUgf.-;UTLJ;;ra.JV
(D) Can draw only flowchart P S
o il CEERONE S0
CD-ROM is a kind of
(A) Optical disk (B) Magneto-Optical disk (C) Magnetic disk (D) None of these
T ...-Lus’("?,;ﬁ’u’-'dl 21
The brain of any computer system is
(A) ALU (B) Memory (C) CPU (D) Control unit
_“-__/é'{ éLL);Zi_f-iMagnelic 22
Storage capacity of magnetic disk depends on
(A) tracks per inch of surface (B) bits per inch of tracks
(C) disk pack in disk surface (D) All of above
_wrﬂlﬁb;ﬁd;ﬁ.’Mam 23
The two kinds of main memory are:
(A) Primary and secondary (B) Random and sequential  (C)ROM and RAM (D) All of above
. bLyf Handle  Storage Areafle il LS Compensate  Speed Jigid 24
A storage area used to storé data to a compensate for the difference in speed at which the different
units can handle data is
(A) Memory (B) Buffer (C) Accumulator (D) Address
__u-fg :__,lﬁ_;i_)lj T qgjfjjlhp,ﬁ};.ﬁ{ 25

and boredom. We call it

Computer is free from tiresome
(B) Reliability

(A) Accuracy
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?ﬂiiéwbwytﬁglntegmwd Circuits .26
Integrated Circuits (ICs) are related to which generation of computers? .
(A) First generation J" JE' (B) Second generation J" ¢ 93
(C) Third generation JJ o'/:- (D) Fourth generation J” J‘,;
..t?vv-v---‘-v-‘-‘----(Component)s?.‘(flﬁ;_-g{f..d'&i 127
Chief component of first generation computer was
(C) Integrated Circuits (D) None of above

(B) Vacuum Tubes and Valves

..u_::f..gt/dv?ffg.;,fg..ﬁi.ﬂﬁfff&;"wﬂ!‘fu:,ﬁ 28

(A) Transistors

To produce high quality graphics (hardcopy) in color, you would want to use an
(C) Ink-jet printer (D) Laser printer

(A) RGB monitor (B) Plotter

a4l R ,_:?J'_{ .29
One millisecond is
(A) 1 second (B) 10% of asecond  (C) 1000™ of a seconds (D) 10000t of a seconds
- £/ Store t1305Lje wr= UTStorage el L 30
Which of the following storage devices can store maximum amount of data?
(D) Magneto Optic Disk

(A) Floppy Disk (B) Hard Disk (C) Compact Disk

Directions (31-77): What value should come in place of question mark (?) in tl';e following questions?

31

32.

33.

34.

35.

36.

37.

(The symbol * represents multiplication in the given expression)

59% of 3654 =126 =?
(A)171.1 (B) 17.11 (©€)1.711 (D)0.1711
491109 - 62835 =5014 + ?
(A) 423250 (B) 424250 (C) 423260 (D) 424260
1934.045 + 21.81 + 536.5 + 856.072 ="
(A) 3347.427 (B) 3338.427 (C) 348.426 (D) 3348.427
22% 3/4 * 7 *8/11 =1
(A) 12 (B) 1/12 (C) 8/11 (D) 3/
1/11 of (39.44 +24.17 - 19.17) = ? .
(A) 4.04 (B) 0.404 (©)44.0 (D) 4.50
2

77 x x - 7=0; what will be the value of x?
(A)7 (B) 1/49 i ©) 117 (D) 49
(72 -200=584
(A) 26

(B) 20 (C)24 (D) 28

5
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4l.

4.

45.

46.

47.

48,

49

30.

31,

404+70943+3|54+70=?

(A) 714576 (B) 73576
g%of50+8%of24-?=5‘4

(A) 18.3 (B)11.82
(1236-:-8}x7 -?7=1010

(A) 2779 (B) 2969

[?)3 = 729

(A)9 (B) 19

425 %15% 3/4=1

(A)4.7812 (B) 46.6875
0333 %2/3 =
(A) 0.6660 (B) 0.222

901/21 * 1743/53 =1
(A) 1462 (B) 1428

7/5-5/9 +3/8 =7

(A) 8/9 (B) 2/7
30 x 40 x 2= 2100

(A) 1.25 (B) 1.50
J(2.25) x25="

(A) 25.25 (B)37.5

44% of 88 - 8% of 305 =?
(A) 63.12 (B) 14.00

(7#10) - 83 = 927
(A) 101 (B) 100

(1,05)% *200=?
(A) 2205.0 (B)225.0

144 +12x3-2=17
(A) 34 (B) 12

What is 30% of 4507
(A) 150 (B) 135

(C) 74566

(©) 1.02

(C) 869

(C)27

(C) 4.6687

(C) 0.4990

(C) 1411

(C) 1718

(C)2.50

(C) 56.25

(C) 344

(C) 103

(C) 220.5

(C) 68/17

M.C.A/E.T/2015

(D) 74575

(D) 10.2

(D)71.5

(D) 39

(D) 47.8125

(D)0.1110

(D) 1394

(D) 19/18

(D) 1.75

(D)7.5

(D) 14.32

(D) 99

(D) 220.1

(D) 11

6l 30% ¥ 450

(D) 1350

52
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Nk ,lw-s',-_k"/-;}ﬁib’Series F‘.:¢_-J a3

53. Find the next number in the series: 1, 4,9, 16, 22 = . )27

(A) 49 (B) 36 ©

Grenl¥ Tuly 15 1965 702 A0UZ15 19641 54

54. It was Wednesday on July 15, 1964. What was the day on July 15, 19657

(A) Thursday (B) Tuesday (C) Friday (D) None of these

-J’TE‘(Q‘EJ"] ) HJ._,WJJ X9, X3 X4 _.4"_16 Leat6 xgq 28l Xps X2 X3 55
. . ?

55.  Theaverage of x| X X3 and X4 is 16. Half the sum of X X3, X415 23. What is the value of x,?

(A)18 (B) 19 (C) 20 (D) 17

_L)?Z./:lﬁldluﬁ Decimal Fraction & 1/2% .56

56. How is Y2 % expressed as a decimal fraction?

(A)0.5 (B) 0.05 (C) 0.005 (D) 0.0005

-L)?}Vﬁ]Lfi{ Seriesﬁfdj 57

57. Find the next number in the series : 235, 346, 457......

(A)578 (B) 568 (C) 468 (D) 558

LuhbZ i 3a 58

58. How is % expressed as percentage?

(A) 0.75% (B) 60% (C) 75% (D) 7.5%

Coins (Adjacent).i/“;:i@'COin_gf Efur éé’;;.Jf)’fCoinsZLSize Lﬁb_gi_“bfw{ ééL.JL’JcILJJ\-{ I 59
s 2y

59. The one rupee coin is placed on plain paper. How many coins of the same size can be placed round

it so that each one touches the centre and adjacent coins?

(A)4 (B)3 7 (D)6

e trfeSnetnlsfe3d 2 ke ¥ 5 Digit 60

60. The smallest number of 5 digits beginning with 3 and ending with 5 will be:

(B) 30015 (C) 30005 (D) 30025
0.1,12358,13.....7 & 4 A81¢ Series §5s 61

6l. Find the next number in the series: 0, 1, 1, 2, 3, 5, 8, 13, ?
(A) 14 (B) 21 (C)18 (D) 15

i Cube Root ¥ 1331 .62

(A) 31005

62. The cube root of 1331 is ;
(A) 11 (B) 13 (C) 19 (D) 17

sa.dhuff;. c}fﬁ.ut’fuk;l::;.l: 63

63.  The CHAR-MINAR is situated in which city of India?
(A) Delhi (B) Allahabad (C) Agra (D) Hyderabad
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| S SRS BRI N T o R )
Pedal : Cycling : : IOCTNet oo i i ?
(A) Gliding (B) Surfing (C) Skating (D) Rowing

| et asli b LI G2/ ODI
The highest total runs scored by a team in an ODI cricket match is:
(A)438 (B) 443 (C) 326 (D) 400

| et Pl s S SWL LSS ODI
The highest total runs scored by an individual in an ODI circket match is:
(A) 219 (B) 243 (C) 264 (D) 263

e dne S Oval St e o
"The ball used in which of the games is usually oval in shape?

(A) Rugby (B) Golf (C) Polo (D) Volleyball

fe l;(&EJx ~Equation /1 6(3-x) - 5 (2x-4) =4(3x1) + 14
6(3 - x) -5 (2x - 4) =4(3x-1) + 14; In this equation the value of x is:
(A)3 (B)2 ()1 (D) '2

_.‘QJ{J"‘Z:;S&m, Rita_c‘...J{&d,{w'-'d}PﬁuLgJLﬁL‘fa. Ritad—Sam
Sam said to Rita "Your mohter's husband's sister is my aunt”. How is Rita related to Sam?
(A) Daughter (B) Niece (C) Sister (D) Mother
e 24 £ C HAB Jobe JU 18 btk B ALl
Four years ago, the average age of A and B was 18 years. At present the average age of A,Band C

is 24 years. What would be the age of C after 8 years?
(A) 30 years (B) 32 years (C) 28 years (D) 25 years

S S Lo Bl 5w s

Unscramble the letters of words and find odd one out:
(A) ORNI (B) ICAO (C) PPREOC

e P 279 766G\ e

Which is the greatest five digit number exactly divisible by 279?
(A) 99603 (B) 99882 (C) 99550

(D) ZENRBO

(D) None of these

_ér,hﬁéj,jbﬁ,éwuﬁgév_égaftfzrul5:(01,7"‘"6 JJ'(.-{).‘—'-..:’-A_;JH,_.JJ 10 i/u:}""SLr?
Five oranges are bought for Rs. 10 and sold at 6 for Rs. 15. The profit or loss as percentage is:
(A) 50% (B) 40% (C) 35% (D) 25%
_q:.l','g World Cup —”O:L”L}"—&-’i— _ﬁ;_uf

cket world cup maximum number of times?

Which country has won the cri
(C) Sri Lanka (D) Australia

(A) West Indies (B) India
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'é{ﬁwjr)ecimulf 199972111 75

75.  Express 199972111 in decimal: 0653 (D) 0.981

s S 6 18.24,9,27.36,11..% 76
76.  6,18,24,9.27,36,11.2.7 (D) 44,47

G s e S0 A Natral 77

I Z_J/ur/ ........................... 42 . E

77. Al natural numbers and 0 nrc‘called the (C;l':lrlllb;:- Dy cationd

(A) whole (B) prime 1 ) p s ! o

—é-.lzﬁ(Synonym)J:g»z_mi_L;urafz__.: (78-82)
o the given word:

Direction (78 -82): Find the word which is of the same meaning (synonym) to g |
78. Lenient : e

(A) Harsh (B) Strict (C) Mild (D) Unforgiving
79. Ignore : a3

(A) Respect (B) Disregard (C) Regard (D) Cons
80. Wonderful : _

(A) Loiter (B) Beautiful (C) Surprise (D) Stationary
8l1. Revolt : .

(A) Obey (B) Loyal (C) Rebel (D) Submit
82. Minimal :

(A) Insufficient (B) Adequate (C) Enough (D) Plentiful

LTINS UL L x(83-87)

Direction (83 - 87) : Find the word which is of the opposite meaning (antonym) to the given word:

83.

84.

85.

86.

87.

88.

89.

Generous :

(A) Kind (B) Benevolent (C) Mean

Innocence :

(A) Guilt (B) Ignorance (C) Simplicity

Aware :

(A) Ignorant (B) Conscious (C) Informed
" Drowsy :

(A) Sleepy (B) Tired (C) Lively

Counsel :

(A) Advise (B) Oppose (C) Publish

Where will you find Ventricle in human body?

(A) Kidney (B) Lungs (C) Brain

Evaluation of 8% x 82 x 8% is;

(A)1 (B)0 (C)8

9
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(D) Lavish
(D) Harmlessness
(D) Abreast
(D) Sluggish
(D) Rectify
& FllluyUe (‘) dUiVentricle
(D) Heart

(D) None of these

.83

.88

89
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The s;mpxest formof 1525 ;. g iimmnmmPNTS 1.5:2.5
(A)6:10 :
(B o
)15:25 (€)0.75: 125 (D)3:5
Find odd one oyt -é—l{éri‘--ﬁ'ﬁ- P40
W (B Mouse (C) Desktop (D) K
ey
Find odd one out: -5 ‘f?‘ﬂ""'u:w'
(A) Sukhvinder B s
(B) Abhijeet (C) Rekha Bhardwaj (D) Vishal Bhardwaj
Find odd one out: 4-?,43/1.)‘” Lt
A
(A)Saleem Khan  (B) Javed Akhtar (C) Gulzar (D) Sania Mirza
Find odd one out: ‘:Y—E;{u'{ﬁl;— il

A) M S Dhoni ‘
(A) honi (B) Saurav Gangyji (C) Md. Azharuddin (D) Salim Malik

i Ho) wa_ " T =
(ai Ho) st 6L Stum Dog Millionaire th-U)'Sampoomn Singh Kalra Jb’.-.-_-,'r.,..l,(’:ﬁ()scar Award

_ —u.’fa?d.’% (" 4
Ho’w d? we better know Oscar award winner lyricist Sampooran Singh Kalra, the writer of
Jai-Ho' song for the film ‘Slumdog Millionaire'?

(A) Sameer (B) Gulzar (C) Javed Akhtar (D) Prasoon Joshi

~= /5215 South African IJ;;UIJL/J'{-)AOOO#‘.;.;.....-ru:..‘.«J:/‘TwcmyQO
Who becomes the first South African player to complete 4,000 runs in twenty-20 cricket?
(A) Faf du Plessis (B) AB de Villiers (C) Jacques Kallis (D) JP Duminy

- 1ild= 314 Dada Sahab Phalke<L 2 Us¥ecls oy 2 2014
Which among the following director conferred with Dada Saheb Phalke award in 20147
(A) Sanjay Leela Bhansali (B) Karan Johar (C) Gulzar (D) Rohit Shetty

S S S L

Who among the following laid the foundation of Shalimar & Nishaat Garden in Kashmir?
(A) Akbar (B) Jahangir (C) Shahjahan (D) Nurjahan

- 5356 Gentle
Find the opposite word of GENTLE from the given word: .
(A) Harsh (B) Strict (C) Mild (D) Unforgiving

g5 success By,

100. Find the opposite word of SUCCESS from the given words:

(A) Respect (B) Disregard (C) Failure (D) Consider

WWW
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